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Table 1. Children by Work Status 
 

 All Girls Boys 
 Count Percent Count Percent Count Percent 
Working 560 27.69 288 27.38 272 27.97 
Not working 1394 72.31 697 72.62 697 72.03 
Total 1954 100 985 100 969 100 

Notes: Based on weighted data. 
 
 
 
 
 
 
 
 
 

Table 2. Kaplan-Meier Estimates of Survival Rates to Secondary School 
 

 All Girls Boys 
 Survival Std.Error Survival Std.Error Survival Std.Error 
All 0.7078 0.0105 0.6774 0.0152 0.7386 0.0143 
Working 0.5636 0.0216 0.5059 0.0305 0.6251 0.0303 
Not working 0.7638 0.0115 0.7462 0.0167 0.7812 0.0158 

Notes: Based on unweighted data. The mean difference in survival rates, all children, by work status is 
0.20, which is significantly different from zero according to the likelihood-ratio test (χ2(1) = 56.80 
(0.000)). The corresponding mean differences for girls and boys are 0.2403 (χ2(1) = 38.53 (0.000)) and 
0.1561 (χ2(1) = 18.71 (0.000)), respectively. 
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Table 3. Means and Standard Deviations of Characteristics 
 
 All children Working children Non-working children 
 Mean Std.Dev Mean Std.Dev Mean Std.Dev 
Girl 0.467 0.499 0.462 0.499 0.469 0.499 
School entry age 7.719 1.611 7.999 1.634 7.607 1.588 
Current age 19.20 3.045 19.27 3.099 19.17 3.012 
In school in or after 1992 0.300 0.458 0.295 0.453 0.302 0.458 
Mother’s education 1.481 2.424 1.067 2.059 1.647 2.536 
Father’s education 3.907 3.747 3.318 3.536 4.143 3.801 
Modern latrine 0.309 0.462 0.295 0.456 0.314 0.464 
Log(household assets)1 10.95 1.428 10.84 1.557 11.00 1.374 
Household assets missing 0.151 0.358 0.162 0.369 0.146 0.349 
Cultivating household 0.757 0.429 0.808 0.394 0.736 0.440 
Owns farm land 0.800 0.400 0.833 0.372 0.787 0.407 
Owns non-farm business 0.439 0.496 0.508 0.495 0.412 0.485 
Older siblings (number) 2.514 2.131 2.469 1.937 2.532 2.205 
Younger siblings (number) 1.258 1.012 1.309 1.047 1.237 0.982 
Younger sisters (%)2 0.470 0.489 0.467 0.466 0.471 0.498 
Health facility in village3 0.697 0.488 0.702 0.488 0.695 0.488 
Tubewell in village4 0.827 0.402 0.847 0.384 0.818 0.409 
Distance to Matlab capital5 5.727 4.810 6.500 5.628 5.414 4.395 
Industry in village 0.639 0.510 0.633 0.514 0.642 0.509 
Village outside Matlab 0.087 0.273 0.081 0.273 0.089 0.283 
Notes: Based on weighted data. (1) Mean defined for non-missing observations. (2) Mean defined for 
observation with positive number of younger siblings. (3) Means of village characteristics defined for 
children whose village of residence during primary was in Matlab, since only those villages were surveyed. 
(4) Out of the villages that currently report tubewell as the main source of drinking water. (5) In Kms. 
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Table 4.1. Switching Probit Model for Child Work and the Transition to Secondary 

School (Coefficient Estimates) 
 

 Work equation Transition to secondary equations 
  Working state Non-working state 
 Coeff. t-ratio Coeff. t-ratio Coeff. t-ratio 
Intercept -0.706 -1.647 0.246 0.240 -2.115 -3.796 
Girl 0.022 0.317 0.276 1.761 -0.080 -0.964 
School entry age 0.105 4.506 -0.211 -3.931 -0.121 -3.992 
Current age -0.018 -1.248 0.046 1.622 0.077 4.198 
In school in or after 1992 -0.243 -2.352 0.710 3.316 0.793 5.826 
Mother’s education -0.041 -2.645 0.126 3.628 0.102 4.498 
Father’s education -0.017 -1.759 0.040 2.008 0.041 3.232 
Modern latrine 0.004 0.061 0.484 2.880 0.369 4.104 
Log(household assets) -0.067 -2.287 -0.010 -0.175 0.102 2.394 
Household assets missing -0.459 -1.349 -0.963 -1.369 0.688 1.461 
Cultivating household 0.230 2.737     
Owns farm land 0.192 2.084 0.191 0.926 0.286 2.867 
Owns non-farm business 0.258 3.920 0.267 1.466 0.202 2.488 
Older siblings (number) -0.026 -1.582 0.122 3.185 -0.016 -0.841 
Younger siblings (number) 0.009 0.278 0.245 3.204 0.069 1.611 
Younger sisters (%) -0.059 -0.729 -0.482 -2.652 -0.142 -1.475 
Health facility in village 0.082 1.107 -0.002 -0.016 0.482 5.571 
Tubewell in village 0.068 0.784 -0.068 -0.381 0.393 3.971 
Distance to Matlab capital 0.033 4.778     
Industry in village -0.201 -2.983     
Village outside Matlab 0.064 0.384 -0.796 -2.269 0.875 4.720 
ρ1w -0.268 -0.586     
ρ0w 0.862 9.063     
Log-L -1952.38     
Wald χ2(20)  118.31 (0.000)     

Notes: Based on weighted data. Weights are appropriately scaled so that they sum of observations in each 
working state. Cov[Uw,U1-U0] = -1.1307. The Wald test rejects the null hypothesis Cov[Uw,U1-U0] = 0 
(χ2(1) = 5.86 (0.015)). The Wald test also shows that ρ1w and ρ0w are jointly significant (χ2(2) = 82.59 
(0.000)). 
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Table 4.2. Switching Probit Model for Child Work and the Transition to Secondary 

School (Marginal Effects) 
 

 Work equation Transition to secondary equations 
  Working state Non-working state 
 Coeff. t-ratio Coeff. t-ratio Coeff. t-ratio 
Girl 0.007 0.316 0.090 1.411 -0.014 -0.951 
School entry age 0.033 4.443 -0.069 -2.832 -0.020 -3.824 
Current age -0.006 -1.242 0.015 1.450 0.013 3.815 
In school in or after 1992 -0.073 -2.436 0.210 2.259 0.111 5.903 
Mother’s education -0.013 -2.622 0.041 2.314 0.017 4.131 
Father’s education -0.005 -1.742 0.013 1.762 0.007 3.012 
Modern latrine 0.001 0.061 0.149 1.665 0.057 3.969 
Log(household assets) -0.021 -2.479 -0.003 -0.170 0.017 3.017 
Household assets missing -0.126 -1.666 -0.356 -1.207 0.085 2.613 
Cultivating household 0.069 2.862     
Owns farm land 0.058 2.222 0.065 0.759 0.054 2.373 
Owns non-farm business 0.081 3.929 0.087 1.051 0.034 2.394 
Older siblings (number) -0.008 -1.573 0.040 1.999 -0.003 -0.844 
Younger siblings (number) 0.003 0.279 0.080 1.816 0.012 1.573 
Younger sisters (%) -0.018 -0.734 -0.158 -1.653 -0.024 -1.422 
Health facility in village 0.025 1.119 -0.001 -0.016 0.093 4.653 
Tubewell in village 0.021 0.795 -0.022 -0.391 0.078 3.336 
Distance to Matlab capital 0.010 4.642     
Industry in village -0.064 -2.931     
Village outside Matlab 0.020 0.377 -0.297 -1.916 0.091 6.058 

Notes: See text for details on the calculation of marginal effects. Marginal effects measure the percentage 
increase in the probability that the appropriate outcome is equal to 1 resulting from a 1 unit increase in a 
variable (for continuous variables) and a change from 0 to 1 in the value of the variable (for dummy 
variables). In the case of log(household assets), the marginal effect measures the change in probability 
resulting from a 1 percent increase in household assets. 
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Table 5. Marginal Effects of Model Covariates on the Average Treatment Effect 
(ATE) and the Treatment Effect on the Treated (TT) 

 
 ATE TT 
 Coeff. t-ratio Coeff. t-ratio 
Girl 0.104 1.579 0.113 1.810 
School entry age1 -0.014 -1.190 -0.049 -1.195 
Current age -0.005 -0.725 0.001 0.037 
In school in or after 1992 0.099 1.039 0.252 3.408 
Mother’s education2 0.004 0.544 0.025 0.791 
Father’s education3 -0.000 -0.009 0.006 0.441 
Modern latrine 0.092 1.011 0.189 3.264 
Log(household assets) -0.018 -0.829 -0.032 -0.831 
Household assets missing -0.441 -1.481 -0.408 -1.956 
Cultivating household   0.019 0.549 
Owns farm land 0.011 0.124 0.094 1.291 
Owns non-farm business 0.053 0.631 0.128 2.337 
Older siblings (number) 0.022 1.205 0.050 3.131 
Younger siblings (number) 0.028 0.985 0.085 2.406 
Younger sisters (%) -0.054 -0.908 -0.171 -2.137 
Health facility in village -0.093 -1.688 0.005 0.084 
Tubewell in village -0.101 -1.622 -0.022 -0.317 
Distance to Matlab capital   0.003 0.580 
Industry in village   -0.016 -0.535 
Village outside Matlab -0.388 -2.491 -0.309 -2.561 

Notes: See text for details on the calculation of these marginal effects. Because of the way the mean 
parameters are defined, a positive marginal effect means a reduction in the negative effect of working while 
in school. (1) Starting 1 year late versus starting on time decreases TT by –0.015 (t-ratio = -1.989). (2) 
Having a mother with one year of education versus none increases TT by 0.046 (t-ratio = 3.335). (3) 
Having a father with 1 year of education versus none increases TT by 0.015 (t-ratio = 1.795). 
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Figure 1. Estimated Marginal Treatment Effects ( ),( ww zuxMTE β−= ) 
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APPENDIX 
 
 
 
 

Table A.1. Ordered Probit Model for School Entry Age 
 

 School entry age equation 
 Coeff. t-ratio 
Girl 0.333 6.270 
Current age -0.063 -6.949 
Mother’s education -0.091 -7.654 
Father’s education -0.022 -2.958 
Mother’s father richer -0.107 -1.928 
Father dead by age six 0.692 5.956 
Latrine -0.249 -4.530 
Log(household assets) 0.005 0.220 
Household assets missing -0.107 -0.389 
Cultivating household 0.201 3.033 
Owns farm land -0.081 -1.153 
Owns non-farm business -0.003 -0.068 
Older siblings (number) 0.038 3.067 
Younger siblings (number) 0.221 7.972 
Younger sisters (%) -0.137 -2.170 
Health facility in village -0.365 -6.527 
Tubewell in village -0.074 -1.214 
Distance to Matlab capital 0.006 0.987 
Industry in village -0.252 -4.720 
Primary school in village -0.224 -3.648 
Village outside Matlab -0.298 -2.263 
Cutoff 1 -2.198 -7.393 
Cutoff 2 -1.410 -4.758 
Cutoff 3 -0.707 -2.389 
Cutoff 4 -0.204 -0.691 
Cutoff 5 0.514 1.734 
Log-L -3033.65 
Likelihood ratio χ2(20)  446.57 (0.000) 

Notes: Based on weighted data. The number of observations in some of the school entry ages was very 
small, so the dependent variable was redefined and rescaled. It is equal to 0 for children who started at age 
5 or 6 (478), then 1 for those who started at age 7 (499), 2 for starting age 8 (439), 3 for starting age 9 
(228), 4 for starting age 10 (206), and 5 for starting ages 11 and beyond (104). Village-level information 
refers to the time until the child was six years of age (the official school entry age). 
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Table A.2. Kaplan-Meier Estimates of Survival Rates to Each Grade 
 

 All Girls Boys 
 Survival Std.Error Survival Std.Error Survival Std.Error 
Primary       
  Grade 2 0.9882 0.0024 0.9848 0.0039 0.9917 0.9546 
  Grade 3 0.9601 0.0044 0.9655 0.0058 0.9546 0.0067 
  Grade 4 0.9091 0.0065 0.9134 0.0090 0.9047 0.0094 
  Grade 5 0.8621 0.0078 0.8668 0.0152 0.8573 0.0113 
Junior secondary       
  Grade 6 0.7078 0.0105 0.6774 0.0152 0.7386 0.0143 
  Grade 7 0.6703 0.0109 0.6409 0.0157 0.7000 0.0150 
Secondary       
  Grade 8 0.6240 0.0114 0.5949 0.0163 0.6533 0.0158 
  Grade 9 0.5625 0.0120 0.5078 0.0172 0.6171 0.0165 
  Grade 10 0.5223 0.0125 0.4553 0.0179 0.5888 0.0171 
Higher secondary       
  Grade 11 0.4025 0.0141 0.3282 0.0194 0.4760 0.0199 
  Grade 12 0.3220 0.0162 0.2639 0.0219 0.3796 0.0237 
Higher education 0.2505 0.0222 0.1783 0.0323 0.3155 0.0309 

Notes: Based on unweighted data. The likelihood ratio test for the null hypothesis of no gender differences 
in survivor functions is rejected (χ2(1) = 13.75 (0.000)). 
 
 
 
 
 
 
 
 
 
 
 
 


